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for the questions
1. (a) Write True or False : 1x4=4
() Management Accounting is

concerned with preparation of
financial statements.

(i) Marginal Cost + Contribution =
Selling Price.
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(2)

(i) Indian Accounting Standards No. 3
deals with Cash Flow Statement.

(iv) Responsibility centers may have
both inputs and outputs.

(b) Fill in the blanks : . 1x4=4

(i Management Accountant is also
called ;

]
il

|

(ii) Issue of shares is a cash flow from
activity.

={

(i) Fixed costs are treated as
costs.

(iv) Margin of safety can be improved by
cost.

reducing the

2. Write short notes on any jfour of the
following : 4x4=16

(a) Duties of Management Accountant
(b) Make or Buy Decision

(c) Master Budget

(d) Opportunity Cost

(e) CVP Analysis
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(3)

3. (a) Explain the objectives of Management
Accounting. Distinguish between Cost
Accounting and Management Accounting.

7+7=14
Or

(b) “Management Accounting is concerned
with accounting information which are
useful to management.” Elaborate the
statement. 14

4. (@) What do you mean by Fund and Fund
Flow Statement? Explain the uses of a
Fund Flow Statement. 3+3+8=14

Or

(b) The abstracts of the Balance Sheets of
Munjal Co. Ltd as on 31st March, 2019
and 31st March, 2020 have been given

below :
Equity & Liabilities 31-03-2019 | 31-03-2020
v v
Share Capital 2,00,000 2,50,000
General Reserve 50,000 60,000
Profit & Loss A/c 30,500 30,600
Bank Loan 70,000 —
Sundry Creditors 1,55,000 1,40,200
Provision for Taxation 30,000 35,000
5,35,500 5,15,800
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(4)

Assets 31-03-2019 | 31-03-2020
g IR

Land & Buildings 2,00,000 1,90,000
Machinery 1,50,000 1,74,000
Inventory 1,00,000 74,000
Sundry Debtors 85,000 69,200
Cash in Hand 500 600
Cash at Bank — 8,000

5,35,500 5,15,800

il

r
I

5. (a)
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Additional Information :

() Machinery to be depreciated by
714,000 in 2020

(i) Dividend of ¥20,000 was paid in
2020

(iii) A piece of land was sold in 2020 at
cost

Prepare a Statement of Sources and
Application of Fund and also a Schedule
of Changes in Working Capital for the
year 2020. 7T+7=14

Distinguish between marginal costing
and absorption costing. How is profit or

loss ascertained under marginal costing?
7+7=14

( Continued )

(5)

Or

(b) The following are the details of

profit

and loss data relating to a manufac-

turing business :

¢
Sales 1,00,000
Cost of Goods Sold :
Fixed cost 10,000
Variable cost 40,000 50,000
Gross Profit 50,000
Selling and Administrative Cost :
Fixed cost 5,000
Variable cost 10,000 15,000
Net Profit 35,000

From the above data, calculate—
(i) profit-volume ratio;

(i) break-even point;

(i) profit for the sale volume of

¥ 1,60,000 and ¥70,000.

Would it be profitable to reduce the
selling price by 10% if it leads to an

increase in sales by 30%?

24P/354

2+3+4+5=14
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(6)

6. (a) Explain the terms ‘budget’ and
‘budgetary  control’. Discuss the
essential qualities of a good budgetary
control system. 3+3+8=14

Or

(b) The expenses for a budgeted produétion
of 10000 units in a factory are given

below :

= Heads of Expenses Cost per unit

~ = :
Materials 70
Labour 25
Variable Overhead 20
Fixed Overhead (¥ 1,00,000) 10
Variable Expenses (Direct) 5
Selling Expenses (10% Fixed) 13
Distribution Expenses (20% Fixed) 7
Administration Expenses (¥ 50,000) 5
Total cost per unit (to make and sell) E

Prepare a budget for production of
() 8000 units and (@) 6000 units.
Indicate cost per unit at both the levels. 14
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[ ASSAMESE VERSION |
1. (a) W& G o5 R 1x4=4
(i) o RoreRRd s {9 toaR $9W
F9TS GLo |

(i) A I + oW = RE 37 |
(iti) SR 251 Tewe 3 T 5% &R RS

F9O FOS |

(iv) AT @FEERS 6 WF SNhp Tew
AT |

(b) TR SR 2R F0 1x4=4

(i) =R M e = |

(i) werE /e IR " @’ o
T2 |

(i) TN IS _____ ¥ I8 @RI W |

(iv) W W IR FArer B3 TEe
R N& |

2. 7o RS f QI TR0 6#[® 5 Gl s
4x4=16

(a) ~ROEE AT $99
(b) 9 wig=r @ Prars

(c) ITHE A
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(8)

(3

TeofE 31-03-2019 | 31-03-2020
7 7

o S @ 2,00,000 | 1,90,000
T3 1,50,000 | 1,74,000
TGS AT 1,00,000 74,000
fifa ommE 85,000 69,200
51 1 4 500 600
@S T 4 - 8,000

5,35,500 5,15,800

Wﬁﬁ@' (O

(i) 2020 59 NI IFI S°FS 14,000 B
S 4f{9 =

(i) 2020 5TS 20,000 GFI TSI A F41
e

(iii) 2020 5® GCORA o FENCS [ 41
(&Y

{f@ﬂ%mwwwﬁqﬁsww
TR S G Pl 9FS | 7+7=14

(d) BRI IR
(e) T TS =S ReE
3. (a) cHfREEE ROFRAR SRR R 9 A
R3¢ S “IfoTe Rorefeae =12 et
9 | 7+7=14
= 12T
(b)) ‘“offoRE RurRd ARtEMR MWE A@Ea
RoR o3 e e I SRR IR
ferar1 14
4. (q) & e & car RIS Foew B @
21z {919 Ire=Eess am fan | 3+3+8=14
1291
(b) &= ¥ fIRcoes 31 16, 2019 W 31 WS,
2020 If¥q Tge 4G AFIT were fir 2
25300 9 3 31-03-2019 | 31-03-2020
7 7
ST 2,00,000 | 2,50,000
e 1R 5ffe 50,000 60,000
EICRGIEICRER| 30,500 30,600
(P9 A9 70,000 —
ffSa sfremm 1,55,000 | 1,40,200
99 19T 30,000 35,000
5,35,500 5,15,800
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(11

( 10 )
6. (a) ‘XA’ OF ‘U9 FEFTI ARSI 01 @R
for1 1 & Tv9 fRRT cmfe WO AEEAE
(b) 9V ESFR  GPHS  eifre BT AT 3 | 3+3+8=14
CIS-CETFOF ©APTR Wors frar 3°4 et
i (b) <51 FRIEE 100005 ¢35 SR IF 3953
&t 1,00,000 ' <541 901 aFl 275 -
R @15 9 -
[ESir 10,000 R R
= 40,000 50,000 r (":g)
= s 50,000 ;T L
ﬁfgw L BT ~EE I 20
§i5 5,000 #4379 (1,00,000 531) 10
RSN T 10,000 15,000 ofere IR (2er) >
BRI 35,000 4@ 9 (10% &) 13
g fa9q 9 (20% &) 7
TS SAPTIRA 91 ey Fa— ‘ ZIA1 <7 (50,000 59 5
i : 3037 2ff ¢arbe (Frer =% Rd) 155
() ST SRSl SIS,
(i) 8000 (5B ¥ (i) 6000 (56 TLATR I
(@) IS Sl (F; GF Y69 AFO 91 | gfoChl BIF A (9L AfS
96 feycar 41 | 14
(i) RS AR 1,60,000 591 = 70,000 5
2T efreq AR |
* & X
RE 0 10% 2p7 F91ch Ao, M ReN
1 30% 3% =7 2 2+3+4+5=14
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